N:=4 Number of steps
R := 7in Stair rise before cutting
Tg = —1.5in First stair is off by this amount
N-7in—- T
R':= —— =7.375-in
N

i:=0. 4 Fourstairs
N—i . .
Tj:= ‘r@-(—j Shim height formula

-1.5
-1.125
T=| -0.75 |-in Shim heights at each level
-0.375
0



N:=4 Number of steps

R:=7in  Stair rise before cutting

T = 2in First stair is off by this amount

N-7in — Tg
R''=—=6.5-in
N

i=0. 4 Four stairs

Tj:= T@'(Ej Shim height formula

7= 1 |-in Shim heights at each level



N:=4 Number of steps

R := 6.5in Stair rise before cutting

TN = 1.5inFirst stair is off by this amount

N-R + Tg

R':= =7-in
N

i=0. 4 Four stairs

Tj:= TN-(—I) Shim height formula

0.375
T=| 0.75 |-in  Shim heights at each level
1.125
1.5



TL(N,R,SL) = | "Determine the shim size for a changed bottom floor"
for ie0..N ~ _
. 6.5
5 N-—i
Tj<« 0| —
I L N 2
_ 1.5 ||
R-N-3§ T):= T (4,7-In,2:in) = Ll
N
0.5
T
_ e -




TU(N,R,5U> := | "Determine the shim size for a changed bottom floor"
for ieo.. N ~ _
. 7.5
i
Tj < Su[ﬁj %)
0.5 ||
R.N+6U TU(4,7in,2in): . -in
N
1.5
T 2




T7(N.8 .8y . R) =

"Changes to Top and Bottom Floor"

R-N-8_
R« —
N
T T (N.R ’5L)1 7.875000
RN + 5, ~1.500000
R' ¢ —— S —0.625000
N T1(4,-1.5in,2in,7in) =
0.250000
3 &TU(N’R ’SU)1 1.125000

R" |\ 2.000000
T+ 7"




